
SAP ABAP table ICL_NEGITS {Offer / Demand (Shadow Table)}

ICL_NEGITS

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

NEGITID [CHAR (32)]

CHANGETIME [DEC (15)]

CHANGEDBY [CHAR (12)]

CURRENCY [CUKY (5)]

DEMOFFMODE [CHAR (1)]

ICLCLAIM

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

 ICL_NEGITS-CLAIM = ICLCLAIM-CLAIM 
0..N

1

T000

MANDT [CLNT (3)] ICL_NEGITS-CLIENT = T000-MANDT 0..N

1
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 ICL_NEGITS-CURRENCY = TCURC-WAERS 
0..N1

TICL091

CLIENT [CLNT (3)]

COMTYPE [CHAR (1)]

 ICL_NEGITS-DEMOFFMODE = TICL091-COMTYPE 

0..N

1

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 ICL_NEGITS-CHANGEDBY = USR02-BNAME 

0..N

0..N


